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QUESTION 1

How does Catalyst Access Switching provide two improved workforce experiences? (Choose two.) 

A. Flexible workspace 

B. Manual configuration of end devices 

C. Core data center deployments 

D. Internet of things, such as flexible workspace (open office, branch office, conference and classrooms) 

E. Controller-based management 

Correct Answer: CD 

 

QUESTION 2

Which two features of the Cisco catalyst 1100 ISR router deliver a high performance and high-quality experience?
(Choose two.) 

A. Mobility express to simplify wireless deployment and operation 

B. Application hosting 

C. 802.11ac Wi-Fi support 

D. WAN and application optimization with WAAS 

E. Unified communications with series build apps for Cisco TDM 

Correct Answer: AC 

 

QUESTION 3

Which two are Cisco recommended controller options for deployment of up to 150 AP\\'s? (Choose two.) 

A. Cisco 8540 WLC 

B. Cisco 3504 WLC 

C. Cisco 5508 WLC 

D. Cisco 5520 WLC 

E. Cisco mobility Express 

Correct Answer: BE 
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QUESTION 4

How does Cisco Business-Class SMB switches provide two simplified managements? (Choose two.) 

A. Cisco Prime Infrastructure Support 

B. Limited scalability and hardware choices 

C. Uncompromised security enabled by TrustSec and Identify Services Engine (ISE) 

D. Standalone Configuration with Web GUI 

E. Integrated live tools for fast troubleshooting 

Correct Answer: AD 

 

QUESTION 5

Which two statements describe how Cisco can achieve Threat Centric Defense? (Choose two.) 

A. Cisco applications constantly scan the environment and analyze outputs to gain a more comprehensive view of
potential threats 

B. Limit secure access to growing set of Cloud applications 

C. Cisco delivers a common platform across network, infrastructure, appliances and the cloud 

D. Cisco network analytics provides visibility and real-time awareness across the entire network by leveraging anomaly
detection and network telemetry 

E. Cisco offers the industry\\'s broadest set of enforcement and remediation options for usage control to accelerate
deployment and unify management 

Correct Answer: DE 
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